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1. YRAEEYE RN IO 915 @RI ere W@ HRO IR 7
(a) B AR HEWTST oo AT
(b) WA e Emd devara SeER
(€ IO e g
(d) B-AR srueen fafra
it Y
1) (@) b M Q @ (@) () i (d)
(@) (o) o (d) @ () F()

What are the major reasons for consistent increase in the current account deficit of
India ?

(a) Rising expensive oil import

(t) Domestic inflation due to gold import

{¢) Euro crisis

(d) Volatile exchange rate

Answer Options :

1)  (a) (b) and (9) 2} (a), (b) and (d)
- (@) (@ and (@) (¢) ®)and (c)

2, YR <A faumitwr FoR gr o R ?
(@) ‘USIg o {ren arfufEm’ 2013 91 9 WHA HIUAW AT
() ‘T wfd @ sfufm 2005 Wt @ g
R 3w
(1) F% (a) @ 9@ (b) @) @ T
Which one of the following two statements is correct ?
(a) ‘National Food Security Act’ was approved in the year 2013.
{b) ’Special Economic Zone Act’ came into. effect in 2005.
Answer Options :
(1) Only (a) (2} Only (b) (3) Both {4) Neither
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3. ‘%' (Council for Advancement of People’s Action and Rural Technology) € & dedn
T gge famamEEt wE w5 o

(a) TR FASI T TFs TR,

(b) A S FH HOTAT HAFRIG G AT F YT F.

et R e S o2 |

(i) %aa'(a.) | (2)'.%3@) (3 . | @ AT

‘CAPART’ (Council for Advancement of People’s Action and Rural Technology) is an
autonomous body related with enhancement of rural prosperity. It:

(a) = strengthens hands of the weaker sections of the society.
(b) funds NGOs working in the' area.
Which one of the above two is incorrect ?

(1) Only (a) (2) Only (b) (3) Both (4 Neither

4. WWWMTO)WW mwﬁm mﬁmmn@
VIR ST ?

T w0 @) w1 e

(3) R R (4) seRfimrie awdt aites

Which is the conference of W.T.O. in which the‘Food Security Bill’ was sancﬁpned fora
specified period ? _

(1) Kankoon conference (2} Doha conference |

(3) Urugwey conference - {4) Bali conference in Indoneshia
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() wawe fafwes st wA w49 2 T ¥ T, i s Sfa s
F 11 T[dIUFRGR ST,

(b) mﬁﬁﬁwmm 50 T[AAVEHeR. 3R THdW, Yot fafaee dwa &
e ferdidr oy T,

(1) am (@) @ wES ) (3) - < (4) wERTE

Which one of the following two statements is correct ?

(a) A Private Ltd. Company can have a-minirhum of 2 investors, a Public Ltd. Company
-should have a minimum of 11 investors.

(b) APrivate Ltd. Company can have a maximum of 50 investors, a Publlc Ltd. Company
can have any number of investors. :

Answer Options : .- . o

(1) Only (a) (2} Only (b} (3) Both (4) Neither

6. TERTZE A2 WHA TAAUE 1991 A 2010 A1 FW T T HOET ST G ?
(a) wIfEd dtE
(b) faeim &en
(c) TR AR 9ftEe
(d) SIEUE AT T
(e T
¢ g

(1) @ b E) @ 2 (@ )6 &
@) (@, ®) ) @ @ (@) (b), (o) (e)
In Maharashtra state which of the following sectors got the highest Foreign Direct
Investment FDI between 1991-2010 :

(a) Information Technglg
(b) Financial Services
(c) Motor Vehicles and Transport

" (d) Professional Managément consultancy
{e) Chemicals and Fertilizers
(fy Drugs and Medlcmes
(g) Textiles
Answer Options ;

(L) (@) (b), (d), (e) o 2) (@, ®) (@ (8
) @) b)) d @ @ 0 C) e
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7. Sied Jegd dra v e

()
(b}
(c)
(d)

&y
1985-86 3t frafa awrw
1990-93 T T |
1991-92 ST Frta e
1997-02 T Frafa o

waid I ;

(1)
@
)
@)

@ ® © @
@ O @) G
@) @ @) O
O @ @) @
v @ @ 0

anfure waAt
(i) ST AT
() <. fEm
(iii) ST, T
(iv) . fagem

Match the following and choose the correct code :

(2)
(b)
(c)
(d

Policy

Iinport - export policy - 1985-86
Import - export policy - 1990-93
Import - export policy - 1991-92
Import - export policy - 1997-02

Answer Options :

(1)
@
3)
@

@ ® () @
@ O @v) @
vy @) @) @
@) v @) G
(iv) @) @ @

Commerce Minister
(i) Arun Nehlru
(i) V.P.Singh
(iii) B.G. Ramiyya
(iv) P. Chidambarm
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8. A HEW AR sufiie weuran fmy WY A W ;
(1) wIfaEF d% (WB) (2) STRALE A (IMF)
(3) vwIiaE IR IREE (WTO) (4) I T EE (EU)

This organisation is considered as the third pillar of international economic relations :

(1) World Bank (WB) (2) International Monetary Fund (IMF)

(3} World Trade Organisation (WTO) {4) European Union (EU)

9. 1991 7} WA Frw g SH T I SR TR o 2
(2) & Y e
() e s faw g
(¢ fasett %< frefavamd gaui= arer gav
(d) S QU <N Wifae ERUE AU SRia

gt SO _
1) {a), (b) 3T () (2)  (b), (o) Sufw (d)
(3 @@ 4 (@), b) () T (d)

In 1991, India faced a severe economic crisis as it had to :

(a) establish full convertibility of the rupee

(b) sell Resurgént India Bonds

(c) pledge gold to get foreign exchange loans

(d) physically transfer gold to the lender country

Answer Options :

(1} (@), () and () (@) () (¢} and (d)

() (9 and (d) @ () () © and @
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10. TG WHiHF FHFH HiE AR

(a) e Aigen SeiwaRTRIET

(b) T YR

(c) UM T HeAw ST
(d) YR T ARITAE e @i o A9

it 39T ;0
(1) () (o) (2} (a), (b) 30 (c)

@) (o) v (d) - @ ()3 (d)
National competitiveness programme is for .

(a) Women entrepreneurs only

(b} Technology upgradation

'(c) For small and medium enterprises

(d) Indian firms to face global competition

Answer Options :

(1) () and (0 2 (@) (b) and ()
(3) () and (d) (4 () and (@)

11. 7T s SR (1991) §& O ReET FoRE ST wewiE aRa i ?
(a) OFGE W@ T SRS THEREAS A6 :
(b) TRATSHI TTATE FE AFTAA 45 TR FIHAF
(c) IRATSA] T T WU TR §5A M 1 {aeirT s Siaweda au
(d) WifeTa Wrarsr vas ATt g frata = el

Wﬁhﬁ:{':
1) o e @ (@) () = @)
(3)  (a) ST (b) (4) R (c) ST (d)

The New Economic Policy (1991) was launched on the background of the following
economic indicators :

(a) Negative growth in real G.D.P.

(b) Indian Rupee had to be devalued by 45 percent

(c) India’s foreign exchange reserves had fallen to U.S. $ 1 Billion

(d) The fall of the Soviet Union had deprived India of almost a quarter of its export

market
Answer options :
(1) Al four (2) f(a), (b) and (d)
(3) Only (a) and (b) (4) Only (c) and (d)
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12, dagum st wes {57 o gafacen sa gRa wid) disra Sy gefae T ?
(1) W%WWWWW
(2 s g ) w |

(3) 9N WISIUFEN 9%
(4) A=} FoaE) TE

 What was not included in the second Green Revolution proposed by Prime Minister
Dr. Manmohan Singh ? :

(1) /Helping Indian farmers participate in global agricultural trade
(2) Minimise post harvest losses
(3) Improve storage of crops

- {4) None of the above |

13,  vRars TiaE- s famam ot i S e ?
() T FAEEET v 30
(b) TR faftdm =
() e Frig
(d) | mﬁw'ﬁ wigae IR fawfaa :O0
Tt I
1 @, ), @ 2 @ @ @0« (4 (@) (b) (9

What role does industry play in the socio-economic de_veloprﬁent of India ?
(a) to promote agricultural development

(b) to promote employment generation

(c) to alleviate poverty

(d) to develop money and capital market

Answer Options :

1) (@) (k) @ ) ®), @) B) ) @) () 4 (@ b))«
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14, SR STV SR S e IO WMfaeheoe 3id AMd W 2002 T8 Sl

(2) WG - (b) i (@ o . (d) e
| qtdt I '
1) @ ®) © @) @ O ©). @, @
3) (@ (), (d), (@ @) (c) (b), (), (d)

If we take into account the proportion of trade to GDP as an indicator of Globalization
~ then the most globalized countries in the descending order in 2002 were : .

(a) India (b) America (c) Japan (d) Pakistan
Answer Options : |
(1) (@ (b) (<) and (d) (2} () () (@) (d)
(3} (o), (b) (d) (a) 4 (o) (b) () (d)
15. HRE=AT 2012-2013 =0 frafd ofget 3 fafa fewm e wam - el Wi e,
() WA by I (o) wRREw (d) 3Ius
aid I

1) @@ @ @ 3 @)@ 4) (&)@ @
The direction of India’s export trade in 2012-2013 shows that the first three top export
~ destinations in descending order were

(a) China (b) U.K. {©p USA {d) UAE.
Answer Options :

(1) © @ @ (2) @ () B) @y (@) (a) () 4 )@

16, RAR AYH FRisH fraes vedi T a6t FeEyem y9oi A0
(a) @ T WA 9 S eE seeAE i dfea” |
(b) it feresverem = 3 faeR firew e
ot 2 P R A o ? -
(1) ¥53 (a) Q) w63 (D) @ <= (4) THE R
First systematic attempts of economic planning, in India include :
(a) abook by MN. Roy titled “Planned Economy for India”
(b) “10 year people’s plan” by Vishveshwarayya
Which one of the above two statements is correct ?
(1) Only (a) (2) Only (b (3) Both (4) Neither
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17. SESHOMAT FlDE 39EF 9 I’F:FTF{ qRH FA Y THEAN F
(@) USTIRTET WY i faHrast IERFIIE Hleman FHl gl
(b) ST WO e FRTet SERIFTOTG Farisr arfer g
(€) ST HUHY arfter foshrae ITHIHE S FH gl
(d) S TR S et SR e o B
wafdt I :
O @3 @ @M () G @ (a) A )

The annual average growth rate in employment and production during the post
liberalization period in India shows that :

(a) It was less than pre-liberalization period for employment

(b) It was higher than pre-liberalization periced for employment

(c) It was less than pre-liberalization period for production

(d) It was higher than pre-liberalization period for production

Answer Options.:

M @ad@© (@ (Mad) () (ad© @ (a)and (@)

18, AR SHfeiF G0N FRET WA T 1991 WY e F et e ?
(a) ol Sieifite HiRo
(b) w%mwﬁq?ﬁarw‘err{
{c) Hﬂ%@'ﬂwmﬁﬂﬁﬁ
@ facia/Sfm dada gam
it 3T
- @FE 2) ¥ (b) (3) aw (d) (4) o T

In the context of Economic Reforms Progamme in Indla which one of the following cannot
be attributed to the year 1991 7

(a) New Industrial Policy

(b) Raja Chailaya Committee’s Tax Reforms

(c) Small scale Industry Policy Implemented

(d) Financial / Banking Sector Reforms

Answer Options :

(1) (a) and (c) (2)  Only (b) . (3) Only () (4) " None
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19. SIS @97 97a Y9 et
I TEER FHTAE TR
@ 1969 @ e
(b) 1974 (i) Qe Rt T o
(©) 1975 (if) STEEEIE SC/ST =N T A Aty
(d) 1976.77  (iv) Toeomet fRE Tater ateE S |

Q) () (o (@
(1) G @ Gv) (i)
(2) @) @Gv) @ ()
@) @ @ Gv) () |
@ o @ @ @ K ;

Match the ft')llowing and choose the corrécicode T
Year "' Amendment in cooperativé law
(@) 1969 () Cadre scheme S
(k) 1974 : _ (id) | be_ciding new terms for services
() 1975 ) (i) Reservation for 5C/5T in mgnagement
(d) 1976-77 _ (iv) Deciding minimum educational qualifications

Answer Options :

@ M © @
L O @ G @
@ @ ™ O 6
@ @ O @ @
@ O @ @ @)
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20. ST IR AP YA W
wft Eap

() g W (i) e KamaEkGe 30E-

.(b) oo gl (i) SiEAfTH P TEE s

(c) . SsHe FTE Wt (iii) T F A

(d) <« & (v) e QUR Wit

Tt Iy ;

@ ® © @
Q) @) (v @ @
2 @) @) @ @
Gy @) G @ @)
@ O @ @) @)
Match the following and choose the correct code :
Committee . Work

(a) Vanchu Committee (i) Measures regarding bankruptey of
companies '

(b) Sundarajan Comnﬁ&ee ' (ii) Industrial Licence Policy

(c} B. Balkrishna Iradi Committee (i) Direct tax system

(d) Dutta Committee (iv) Oil Sector Revision Committee

Answer Options : |
@ ®) () )

1) @) vy @ @)

(2) (v) (i) @@ @

@) (i) @@ @ ()

4y @ @ () @)
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21. TEWY Ft Tl ST it Falaw TR
(@) T« |
(b) GG amwar =il
(c) VAFIT SR ITeTRIA
(d) =mys frdfe famw
it I
(1) %= (a) (2) (a) = (b) (3) ®H(d) (4) T ()
The Maharashtra agricultural competitiveness project is not related to
(a) Debt restructuring of farmers
(b) Private sector capacity building
{c) Access to the markets for farmers
(d) Market led extension
Answer Options : _
(1) Only (a) (2) (a)and (b) 3 Only@ - (4 Only()

22. mmwmw@mmmwﬁﬁaﬁwa@a | | |

() Fiv-geam-wfe @ tmwmERd | |
(3) Fw-waE-ferid (4) wfem-SEFE-TY
What were the names given to the three locomotives that were used to pull the first train

in India ? - | :

(1) Sindh - Sultan - Sahib - {2) - Ganga - Yamuna - Kaveri

(3) Vindhya - Sahyadri - Nilgiri -(4) Kalinga - Utkal - Magadh

23. SIFASHN (UNCTAD) 2011 =1 SRR T STearargar fvas e enfn e fardei
AU = SFATATRIAT TAq JGTHR 2011 2013 91 F@@ HRA _ WA i,
(1) i @ T 3 fawm () e

As per year 2011 UNCTAD report in giobal investments, India stands in
increasing flow of Foreign Direct Investment in the period from 2011 to 2013.-

(1) First (2) Second (3) Third (4) Fourth
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24, wwito fagd ST STfe SOTE! oo el TR S wﬁamtﬁmmfaqﬂw
A’ JEeiSt RV 3 Teed 2
(1)~ wior forga fermeomaTst weern greaT=h ffvd
'(2) mﬁmﬁgamﬁa”tﬁﬁﬁr
(3) wiiew Namwetd faga 1o 94 s fagde
(4) AeEY HIURE TR

Which of the following was not an objective of the ‘Rajiv Gandhi Grameen Vidutikaran
Yojana’ for Rural eleciricity infrastructure and household electrification ?

(1) Creation of rural electricity distribution backbone
(2) Creation of village electricity infrastructure

(3) Electrification of all unelectrified BPL households
(4) None of the above |

25, YIUiER WEHR I HEHH WIATe weit=] qoan 0 AETaH ST
() T G dEErh EUR fEAm g | fha @i st we SETEE sAE
(b) mmﬁ@ﬂw%mmﬁwﬁwéﬁwmm
(c) W VaEEN AGHAN AT S0d H S
(d) T IGHEN B AEH TAEAN i A
TR Iy |
1) @9d) @ (b.3ad. 3 @ O (@) TEw
- A Primary Agricultural Credit Society (PACS) has to fulfil the following norms :

(a) PACS can be set up with ten or more persons belonging to a village.

(b) PACS obtain their working capital in the form of entrance fees and dep051ts from
the members.

(c) PACS give credit to the farmers at concessional rates of interest

(d) PACS should give credit to small farmers only

Answer Options

(1) {(a) and (d) (2) (M.(dand(d) (3) (a), (byand(c) (4) All above
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26, AW A0 R 1970 IEA Miqwre JEawl wHE GrEfavaEret fav sreor SiwR
AT TG hell. A TG @ I - |

(1) wmdgEAE - (2) vwenmEe
('3) FRaTs e (4) J=9A A

International Monetary Fund started special drawing rights scheme in 1970 to address
.the problem of international liquidity. The scheme is also known as: -

" (1) Paper gold scheme (2) White paper scheme

(3) Green card scheme (4)  Silver card scheme

27, e 3 PNEER B g s
(a) WA fee foea wered! FEERt a5 T # 99 T e.
(b) mﬁmﬂﬁw%q%ﬂqﬁmﬁwaﬁmaﬁn&w@mm

gaTEl SW
) ¥ @ Fa@ () (3) & @) T

Which one of the following two statements is correct ?
(a) India’s first District Central Cooperative Bank was established at Zang in Punjab.

{b) Fredric Nicholsan in 1895 - 1900 suggested establishment of cooperative societies in
India as they were established in Germany.

Answer Options :

(1) Only (a) (2} Only (b) () Both (4) Neither
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28.

404849

17 NO6

e sTaPT=n A ' ErESTE AR A8 S SIS eI [aaUsh e [N
T WA W € TATh T TorRINE o SEE 1. YUt @ vr 3RAn &HiE

(@) ™IS s i

0 TN

() 1 (3%) wreeren et

(d) ImfdeIFHTo

vt e

1 @3 @ G (3) (&) (@) () b))

According to the Planning Commission, “the reforms also had medium term fiscal objective
of improving public savings so that essential public investment could be financed with
smaller fiscal deficit. This part of reform sl:rategy was unfortunately never implemented”.
It was'due to :

(@) Larger public debt
(b) High rate of interest

(¢) Negative public savings

(d) Globalization

Answéf Options :

(1) {2)ard (0) (2) (b)only (3) () and(d) 4) (@) (b)and ()
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29.

18

WIENTAYST HIVH] HHETT WA F T UFIER e 3T ?
(a) 1IN Aiyr-aT-TEAGA FU

(b) oN.3NTA.El. TUI-ARTR - WIS Y TI-gRaa

() W.3NINA. T-TEH - FwriaRE &

(d) .33, F-TeE - _

(&)  HTEA, - TR T AR T

it 36T ¢ ' _

1) @ ®) @ @ - 2 @ ® @
(3) W (a) - (4) whw &b

Which of the following concepts indicate/indicates Public - Private Partnership ?
(a) BOT - Build - Operate - Transfer

(b} BOLT - Build - Own - Lease - Transfer

{c} BOOT - Build - Own - Opefate - Transfer

{d) BOO - Build - Own - Operate

(¢) BLT - Build - Lease - Transfer

Answer options :

(1) @ {b) © | (2) @ () ()@

(3) Only (a) {(4) All the above

30.

e SR W daw.

(2) wrgERET

(b) 3w E

() F=amE G

(d) o gftemor

afet I : : : '

M @mE). . @ @Amd @) o)) @ (v
The credit linked subsidy is provided for

(a) Technology upgradation

(b) TPurchase of plant and machinery

(¢) Purchase of raw material

(d) Training of labour

Answer Options : .

(1) (a) and (b) (2) (¢} and (d) (3) (b) and () @) (c)only

FoeT FAATE AW /SPACE FOR ROUGH WORK
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T 1949 =1 WL Icqe1 Wi TG SO HISoar=t S0 Iga gafde ?
freas 3aae wgt
T @ vgdl

(2) s S Wl ()
(¢ T T (d)
Tt 3

(1) @), ) (o) 3 (d) TR (2)
@)  (a) M (b) TR @

National Income Comumittee of 1949 7

Net product method (b)
() Expenditure method (d)
Answer options : |
(1) (a), (), (c) and (d) are correct (2}
(3) (a) and {(b) are correct {4)

%93 (d) TR
FI9 (b) T

What method of measurement of National Income calculation was suggested by the

Net income method

Per capita expenditure method

~ Only (d) is correct

Only (b) is correct

32.

WRE Qe Srate R i IrEar e 9 S 9w o

FHEA i ot da
Raforw wwn

RS 2E L

Tferq ware

Community and social services
Educational institutions

Defence

(1) (a) @M (b) e T e | (c)

2) (a) WUHEE (b)) TESEM ©

@) (@ TEE () F (©

(4 (a) WVHME (b)) WIS QAT (©)

Following three areas constitute major part of employment generation in public sector in
India :

(1) (@ Mining (b) Electricity and water {c}

(2} (@ Mining (b) Small industries {c)

3) (a) Mining (b} Electricity {c)

(4) (a) Mining (b) Social services {c)

Police Administration
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33, T oF faumitst SR g IR ?
(a) 2013-14 7 fawaaiR s dftea w9 HdY wEEt® swwEwe TIEe e
THETHS FIURYA o WG AR 7MW Swspai=n auey 3. '
(b) @za&mﬁmmmmammmm(mmwmm
uoiEt 3y : |
(1) F= @) (2) 5 (b) @) & (4) TR TR

Which one of the following two statements is correct ?

(a) National Mineral Development Corporation and Bharat Sanchar Nigam were among
the top five profit-making Central Public Sector Enterprises in 2013-14 ?

(b) State Trading Corporation of India Ltd. was among the top loss making CPSES.
Answer options : ' '

(1) Only (@) (2) Only (b) (3) Both (4) Neither

34, 9RAMIG AEREEIE T feonimed Tala Afe 11320 ¢ W FEUEe YSAHE! Haid FHHt
TRUN 17 3R, 91 HaWid [ 3 Tt Fivn faum 9 g o ?

(a) T 2011 FTTOHWHE SRE o Y qi6t S 9REE B 318 o
(b) T 2011 <51 IFVHER SHETe § IAUES Fid Ta TRE™ =S 199 IR,
ugidr 39 ;

(1) ¥ (a) @ FF3(b) @) I (4) TR

Population density for Delhi has been the highest at 11320 while being the lowest for
Arunachal Pradesh at 17. In this context which one of the following two statements is
correct ?

(a) As per 2011 census the density of population of Gujarat and Andhra is the same at
318.

(b)  As per 2011 census the density of populahon of Chattisgarh and Uttarakhand is the
same at 199, _

Answer options :

(1) Only (a) ) Only () (3) Both (4) Neither
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35. W IgoR T e ANRRE! HEA FENT Heare SigeTiaT o g T,
(1) T o ST ARrAEde G a3,
(2) e ASPIRTH (AT THeial Saia GHEay e,
(3) Tk fovar qof snfy wiTeRn e SEEe EEie THIE SR,
(4) wﬁﬁaw,mmmﬁrmﬂ@ahrwﬁwaﬁ

Prof. Tendulkar’s figure of poverty head count is higher than Planning Commission’s
estimate because

(1) It includes the expenditure on education and health.
2) It includes the expenditure on migration for employment.
(3) Itincludes the expenditure on drinking water and better quality of food.

(4) Itincludes the expenditure on family welfare, health and education.

36. T A favTE W e o2 |
(@) 2008 YA G A T T faun G gy Waki dsseiss! ar] ga.
(b) el iR T 30,000 TEY TEEIH T AR T 4 AR qu

IR.
T Y ¢
1) Fa3 (a) (2 FFE (b) (3) <= 4 AR

Which one of the following two statements is correct ?

(a) The Rashiriya Swasthya Bima Yojana introduced in 2008, is applicable to the BPL
population.

(b) - The beneficiaries are entitled to hospitalization coverage upte T 30,000 for four
household members for most of the diseases.

Answer options :

1) Only @) 2) Only (b) (3) Both (4 Neither

- @A HIMTEISl RN /SPACE FOR ROUGH WORK
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37.

22 A
T TaAlF A (1980-85) TE ! HIVT SUSTE 3 qaR $10amd 3 ?
(a) ToR FAET | -
(b) Gt feemdteie SRS
(c) &t feuriidie s
(d) ofier feerdidte SOsd

gt 36
(1) (a), (b) 3 () : 2) (), () T (d)
(3 @) ) anfn (d) (4) I

Which of the following estimates of unemployment were made during the 6t five year
plan (1980-85) : '

(a) Chronic unemployment

(b) Weekly status unemployment

(c) Daily status unemployment

(d) Annual status unemployment

Answer options :

D (@) ®) and ) @ O ©and(d)
(3) f{a), byand (d) (4) All the four

38.

TAeF! faR IR G5 el

(1) oM g

(2) W fa=™ e

(3) wHifer® g F Forwm

@ FoE T

Identify the noh—employment scheme from the following :
(1) Rural Works Programume

{2} Area Development Scheme

(3) Integrated Dryland Agricultural Development
(4) None of the above

HEAT HATETS! W /SPACE FOR ROUGH WORK
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TSR ST Y@ TS wriis adEard=n fRerkaumaRt @@e o e
IR B ?

(1) w1 fGER foe 9w
2 a'ﬁrmqaaﬁf:-sﬁmﬁr
(3) IqAH HEE A4
(4) SERUEE 1A

Which of the following instruments is used as one of the major fiscal funCthI'lS of the
public sector in stabilising the economy ?

(1) Expansion or contraction of taxes
(2) Raising debt. from the market
{3) Proper distribution of available resources

(4) Changes in the interest rates

40.

HYAT HETT 2013 AY FoH 135WWWHWWWWWWW
T el Felt e, IR FA NG :

(1) fouu <y am. (2) AW TR,
(3) T W IR, (4) THHA W AR,

Enactment of section 135 of the Companies Act 2013 making Corporafe Social
Responsibility (expenditure} mandatory for large and profitable companies India became
the :

(1) third country to do so. (2) fifth country to do so.

(3) seventh couniry to do so. (4) only country to do s0.
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41. . YRGS 3T SFEHAFGE T FO SR 2

| (a) TR @ e (b) STCETEIHTE TG
(c) wTgHafrd (d) wiaT Iref=rET
it 36
(1) (a) ST (b) @ 1))
(3) (@) (c) o (d) @ wawd

What are the major causes of income inequality in India ?

(a). Private ownership of property (b} The law of inheritance .
(¢) Tax evasion (d) Parallel economy '
Answer 6ptions : _

(1) (@) and (b) 2 () () and (d)

(3) f(a), () and (d) (4) All the above

42. 1 ufya, I%MWaﬂﬁmwmmﬁmm@mm. oA
WIATTH! BVt A fae™ Hoam et e ?

(1) e anin fawm Frm
(2) wuey fadr Ao

(3) AWy ISR A

(4) I ST

Which one of the following schemes was not merged in Swarna Jayanti Gram-Swarojgar |
Yojana started on April 1%, 1999 ? :

(1) Integrated Rural Development Programme
(2) Million Wells Scheme

(3) Prime Minister's Rojgar Yojana

(4) Ganga Kalyan Yojana |
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43. nmﬁmﬁ%ammmmﬂaﬁmmmwﬁmw
(1) ﬂ@wﬂaz[uﬁm (2) AYITR IR U
(3) 0w I @) wOw T T

Which of the followmg monetary tools have the same effect on the expansmn of money
-under monetary and credit policy of the central bank ? '

(1) Cash Reserve Ratio (CRR}) (2) Statutory Liquidity Ratic (SLR)
(3) Both the above o (4) Neither of the above

44. i I faymids Fv A R 2
(a) Wmmﬁqmmwm?zﬂsmaﬁ
(b) wmnmmwmisﬁwmaﬁ
1) m(a) (@ FB®H - @ T - (4) e
Which one of the following two- statements is correct ? -

‘(a) - For manufacturing enterprises investment limits-for medium projects.is ¥ 2. to 5
crores. | ' ' ' '

(b) For service enterprises investment limit for medium p.rloject is T 5 to 10 crores.
Answer options : oo
(1) Only (a) {2) Only (b) (3) Both . : - -(4) Neither

45, = SEMA fogiamde g9

Mv=17r_=%t-[—rmhu€faﬁ
() Ffeg wHHw (@ TR i

In quantity theory of money the equation :

MV =PT is known as _

(1} Robertson’s equation (2) "Marshall’é équation |
(3) Keynesian equation (4}  Fisher's equation
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46. SiSdl e AE TG TN,
fiaw fara wemiess TG e

() vEE O ER fawm mwHse ) R 1997

()  farey uesuR fawm TRETE ) fedav1997

(o) wiEw weEeR fa Tees T i) #1998

(d) mewmw (iv) SFERl 1996

Tt I

@ ® © @
O @ 6 @ @
@ 0O @ @ @)
@ @) Av) @
@ O @ @ @

Match the following and choose the correct code :

Irrigation Development Corporation Year of Establishment
(a) Maharashtra Krishna Valley Development (i) April 1997
Corporation

(b) Vidarbha Irrigation Development Corporation (ii} December 1997
(© Konkan Irrigation Development Corporation (i) August 1998

(d} Godavari Marathwada Irrigation Development  (iv) January 1996
Corporation

Answer options :

@ ® © @
1 w O @
2 ® @) @ )
@ @ v O b
(@) @ @ @) @)
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47. o vHig frae

FT TIER Wigacl STAMEY 0T SEhiT THET B ?

(a) TG BRI A= (b) ST FSAIRE S

(¢) oIeY IR 39A (dy wias fag M o

Qi S

(1) (a) S0 (b) (2) (o) @l (d)

3) (a), (¢ WioT(d) @ =wwd

Choose the correct option :
What factors are included in the Central Government’s Capital Income ?

(a) Income from internal debts. (b} Income from external debts.
{¢) Income from small savings. (d) Income from provident funds.
Answer options :
(1) (a) and (b) 2) (g and (d)
(3) (a), {c) and (d) (4) All the above

48. THEB T AR

(a) FCA IOAE H
(b) U= THY GG FL
(©) HUAA @A F
(d) FHI=A UFAE F

W‘hﬂ“ﬁﬁ‘:
(1) (a) ¥ (2) (a) 0T (b)
@ (@), ) 3 (o) @) (), (b), (c) ¥ (d)

The corporation tax is a

(@) tax on income of companies

(b) tax on total receipts of the company

(c) tax on turnover of the company

(d) tax on donations of the company

Answer options :

(1) (a) only (2) (@) and (b)

(3) (@) (o) and ) @) (@), ®) ©and (@

oA HTAST W /SPACE FOR ROUGH WORK
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49. TR ST A AV HIIG ST HEN I
(a) #iga g T 79 FHVH
(b) WRd R
{c) 3feaq afael SaREE
(d) eFE wHe dieR FOiEE

it s :
1 @ ®). () (d oL @) @ () d), (9
G @ © @b @ @& @ (b)

'Arrange the following enterpnses in terms of real investment in a descending order :
(a) Oil and Natural Gas Commission

(b) Bharat Sanchar Nigam

() Indian Oil Corporation =

(dy NTPC

Answer options : . -

M (@), b ©) (@) L2 @ede
(@) @ @) @ b @ (@ @) ) b)

50. - UNDP =1 He e -Sareiivamt (2009) Tekt 9 faumidea Fom g @2 -
© (VA ATy SE 63.4 9 Ve TRRaE eaad (2007) 66 BN
(a) aﬁ&wg%mwwmmmﬂmaﬁmzwgq&%ﬁ?ﬁ
(b) aﬁaéwmﬁamawaﬁmﬂzoowtﬁwggé?ﬁ ‘
1) 9 (a) @ %ﬁaﬂb} @ @ T

As per the Human Development Report 200’9) of the UNDP whjch one of the followmg
- two statements is not correct ? - . : SE A

(Life expectancy for India was 63.4 and Adult literacy % (2007) was 66}

(a) An average life expectanty 2007 for UBA, ‘UK, France, Japan, Canada was about
84.

(b) Adult literacy percentage 2007 for the above countries was about 99
Answer options :
(1} Only (a) (2) Only (b) (3) Both " (4) Neither
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51, wRere e ¥9R 9 T@ WeE _ Fned.

@) omfeE - t) '

(c) wmidT- ) i g

Tt 3T o

1) (@) () (2 (a) 3 ()

@ ot@ @ @@

For India’s BPO (Business Process Outsourcing) Services, the main two consumers are

(a) US.A. (b) Japan

(¢) Germany ' (d) Western Europe

Answer options : _ |

(1} (a) and (d) (2) (@) and (c)

(3) .(b)and (d) {4) (o) and (d)

52. 2007-09 A1 Frd 3 W T et wEt v gegeR 100 Qe
() F (b) B (c) wRT (@ T
LT iR
(1) @) s ) @) ()

G @OEI@ @ @A

The maternal mortality rate in 2007-09 was below 100 in the states of and
(a) Kerala (b) Tamil Nadu (¢) Maharashtra (d) Gujarat
Answer options @

1) (2)and B) (2) (a) only

3} (@ @) () and (d) @ (@) and ()
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53, SINTae sl fave fas ATAET (2010) a19d Rie 31 fGumidHt Hiv W e ?
(a) TaweTeia sefcaasdmmE favart gan 83% Sa@En R a @ =N gar 38% Ta

T S A i,
(b) T ¥ i S T
it T
W) FmE @ e @ W @ wa

Which one of the followmg two statements about the World Development Report (2010)
of the World Bank is correct ?

(a) Developing econornies compﬁse about 83% of the world population but account for
about 38% of the World Gross National Income.

(b) Some of the countries of Europe also come under developing economies.

Answer options :

(1) Only (a) (2) - Only (b) (3) Both (4) Neither

54, TERTLTEA HAEfiTR SEAAR 1991 a0 aSHiE UF THE 98 B ¢
(1) IEF TR T A .
(2) TRF T TNW SENTRE Wieael! 7 A a5 s fer.
(3) URRIGENT TE] ST WIS,
(4) - wizacl I% SUAET H4H FHUET e,

One of the changes in the industrial structure of Maharashtra post - 1991 was :

{1} Increase in the consumer goods indusiries.

(2) Transition from consumer goods industries to capital goods and reprocessing
industries.

{3) Privatisation of consumer goods industries.

(4) Reduced share of capital goods industries.

Hol HETEIS! W /SPACE FOR ROUGH WORK
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55. fifier SARuw FREdraTst St S gayd Fe B TR,
(a) RN AW THAH (b)  FHsi-FHHTT TUIRR 1S
() v o e @ (d) T I T
it 3T :
(1) (a) T @ () I (b)
(3)  (a) (b) SO (d) @) (b))
The fundamental criteria used for identifying industrial sickness is
{a} Recurrence of cash loss (b) Increase in debt-equity ratio
(¢} High labour turmover (d} Reduction in networth
Answer options :
(1) (2} only | (2} (2) and (b)
(@) (@), (b) and (d) (4) (b)and (o)
56. e faumian fa=am = -

(a) TEIFACA TRATI Tige SHeFTT 28 HefFR!, 1948 o1 Lk, Yo gt Tl s,
(b) HRAE FEiq T AUHFTT WSTATET 9 1wt TRt 39 7 fyee.

(c) V@ @S At i e SIdEEHET 16 9, 2012 Uit Wigem.

Tt 3 ; |

(1) (a) T, (b) N (c) T

2) T T TWH

(3) (b) I (c) T

(4)  (a) ST (b) SR 3.

Consider the following statements :

(a) R.K. Shanmukh Chetti presented India’s first post independence budget on
28 February, 1948.

(b) Presenting budget for the highest number of times is recorded in the name of the
finance minister Morarji Desai.

() Pranab Mukherji presented his 5t budget on 16t March, 2012.
Answer.options :

(1) (a} is correct (b) and (c) are incorrect

{2) Al the above are correct

(3) (b) and (c) are correct

(4) (a) and (b) are correct

HoAT FHIHTHIE ST /SPACE FOR ROUGH WORK
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57.

32 A

WIRATA e T 8 HReied Jaui=al eiaee Havid (2011) @i a7 faumidia S @

(a) . IFEIE UL TTHAW FAT AR, AR T hAW IAW ¢ A 9 FEER A2,
<Y A g S0 T A AT wAA.

(b) T 2011 A FATOATAT! FAlH o T T+ AFHEN T HRE (I3 s
FH HIF) IR

it 3

(1) ¥ @) 2) 9% (b) @ TR @ T

Which one of the following two statements is incorrect in terms of the population of the

states and the Union Territories 2011 ?

(a) Lakshadweep has the least population. Thereafter the order of increasing population
is : Andaman and Nicobar Islands, Daman and Diu and Dadra and Nagar Haveli.

(b) Karnataka and Gujarat have almost the same population (difference of less than ten
lakhs) as per 2011 census. _

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
58. UHIfeH® T faee Fee & ST 3.

{a) RIS SR EE a1 HIRICd TR Sl

b S

(c) ¥ AT

@ TR vl dadt

ot I , -

(1) (a) 306 (b) 2) (@), ) f ()

(@) (b) wFd 4 @FR

Integrated rural development program is for _

(a) Transferring productive assets or skills to the poor

(b) Self employment

(c) Wage employment

(d) Drought affected farmers g
Answer options :

(1) (a)and (b) @ () (b) and ()

(3 () only @ @only
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59. T 3 faure Fon T v ?

(a) FEAELH. = (2014 =) AE fowm srgarear, A frdmaram 152 snimed wwarn
127 1 ®WIF TR

(b) T STRAAER Ta fahma Fenad W 187 1 165 a1 TR,

it 3} :

1) F9 (a) @ F93(b) @ T (4 TR
Which one of the following two statements is correct ?

(a) According to UNDP Human Development Report (2014), India ranks 1270 out of
152 countries on the Gender Inequality Index.

(b) According to the same report India ranks 165 out of 187 on the Human Development
Index.

Answer options :
(1) Only (a) (2} Only (b) (3} Both | (4) Neither

60. HENIEIG B & qANTud] IReT 1 AT SEeAT.
(1) wem, vt suftr Tefadet
(2) 3, TITS Fftr TRy
(3) farl, sregrg sufor wrr
(@) fard, nrearer anfor @Y
Dal and oil mills in Maharashtra are mostly located in
(1) Bhandara, Gondiya and Gadchiroli
(2) Thane, Raigad and Ratnagiri
(3) Vidarbha, Kolhapur and Satara
(4) Vidarbha, Marathwada and Khandesh
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61. I SREEA § fa=n aen Wevia [Eie S faumitst Sivr 9 3mg ?
(a) TIHIA AEKA SQT FHARG T 1971 (1961-1971) TR §aq S0 Tfe.
(b) ERETEHR T7 1961 HE THA AGKS ag0 <HHadd wata Afuw Tfean.
i I

(1) 9% (a) @ FaBH) = (3) o (@) TR TR
Which one of the following two statements about the population and its growth in India
is correct ?

(@) The percentage change in decadal growth has been continuously negative since
1971. (1961-1971)

(b) The percentage change in decadal growth has been highest post—independence‘as

noted in 1961.
Answer options :
(1) Only (a) (2) Only (b) (3) Both {4) Neither
62. BPO ¥ Rai=n SIISH SeAl.
(1) =R

(2) WIH IAEA

(3) wifedt 7 A W

(4) wE T sifEitE

BPO (Business Process Outsourcing) services are a sub-component of
(1) Trading services

(2} Computer product services

(3) Information and technology related services

(4) Research and engineering services

63. WROEA W@ SWiaia SARAIA TEih TFh FIAM § e weie] WEe
T EH F T, |
(1) diE (2) o (3) & (4
The largest amount of public expenditure in the form of subsidies as a percentage of GDP

is on .

(1) Rice - (2) Kerosene (3) Fertilisers 4) Electn'city.
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64, EEE FEAW mhd Fe T,
(@ W | () eI
() ra T iR ) SR A e
atdt T
1) (@) Q) - @ (a) T ()
@) (@) =R ) @ @ o), ©
The control of inflation is done through
(a) Repo (b) Reverse repo

{c) Cash reserve ratio (d) Borrowing from IMF
Answer options : | '

(1) (@) and () (2) (a)and (b)

(3 (@ only W @b

65. <Ifiee WG AFHEI™ THO S& S 926 HAM Il Har) 2011-12 REd
73Tt B,

(a) ERTY ® T o @ @ wiles
Tt I

1) (@, @) (b) () (2) (@) () (@) @

@ @ b) @@ @) (© @ @ b |

If the states are arranged in descending order on the basis of BPL population the order in
2011-12 was : . - _

(a) Maharashtra (b} Gujarat {c) Kerala (d) Karnataka

Answer options :
1) @ @ ) © 2 © ®) @
@) ) ®) @ © @ () @ @ O
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66. g’%ﬁﬁwaﬁwaﬁ?aﬂvﬁqﬁwmamowmmmafwwﬁzﬁﬁﬁ_
THifael -
(1) 8, T, FH (2) T A, TEH
(3) FIE, TR, Jafwn (4) wE, @, T

From amongst the following food grains name the three that have shown the maximum
percentage rise in production from 1970-2010. '

Cereals, Pulses, Rice, Wheat, Oilseeds, Sugarcane, Cotton.
(1) Sugarcane, Wheat, Cotton (2) Wheat, Rice, Pulses
(3) . Cotton, Wheat, Oilseeds (4) Cotton, Pulses, Wheat

67. §T 2007 7EA YRS STRYUTRA GHET HEA AT G SAOEFAH oA A,
(a) wm by € weu (d) “ER
it 36t :
1 @b 2 @ b))« @) (®) (0, @) 4) (@ (@ W

Food security mission was launched in 2007 with the following components.

(a) Rice () Wheat (c) Pulses (d) Jawar
Answer Options : :

1 @ &) @) @ (@) B @) ®) @ 9 4 (@) (0 @)

68. FIFE (NAFED) o ®F w.

(a) WEFR faom (b) vEERA FaF
(c) fomr sifvrepet (d) FOER
uaiat It :

o @0 2} (a) (0) 3T ()
3 (@), (), () 3 (d) @ () (o (d)
NAFED functions as .

(a) Cooperative marketing (b} Government Agéncy

(c) Insurance agent (d) Facilitator for contract farming
Answer Options :

W @ o - @ @ b)and()

(3) (@ (b) (c) and (d) 4) (b), (c) and (d)
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69. e 3 FAuMH! v WA R 2
(@) T T Frivi o Wy 1997 =1 HIFel! fIshre STEHII W& b T,

(b) WA AR @, TERE, U9 9 s @ gaia Iow wrEt faem e sraerelt e
IR T8 3.

gttt 36T :
(1) ¥92 (a) (2 e (b) @) A (4) UHE TR

Which one of the following two statements is correct ?

{a) Human poverty Index was for the first time presented in the Human Development
report of the year of 1997.

(p) Kerala, Maharashtra, Punjab and Haryana are the first four states with the highest
HDI among the states.

Answer Options : .
(1) Only {a) (2) Only (b) (3) Both (4} Neither

70, SIS SATIR Hee= YEifasad UG R T H1ed 2
| (a) IR YA 3TFS HEF 0
(b) Wit v e
(c) Tmaid wgA fama
(d) =T ggdt qEfE
Tatedt I -
1) @ © 2 @ k-« 3 ®) (0, () 4 @ )6
What are the provisions in Agreement On Agriculture (AOA) under the WTO ?
(a) Providing market access
() Regulating domestic support
(c) Containing export sitbsidies
(d) Ensuring fair practices

Answer Options :
1) @) () 2 @ © @ 3) &) (@) 4 @) ®) ()

FHeT HIHEE WO /SPACE FOR ROUGH WORK
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71. T Ui A Fot e wE = Ffae A,

(@) o forr e

(b) RS AR W

(c) ﬁ’?:r-lﬁﬁrr{_

(d) T S

e

1) @ © ) @ @ @

3 @ ® @ @ ® © @

The strategy used through five year plans for agricultural development included

(a) Agricultural extension services

(b) Favourable terms of trade

(¢) Expansion of irrigation

(d) Institutional credit

Answer Options : .

M @ © (@ (@ (©and (d)
@) @ 0 4 ®)@©

72. Wwﬁmnw&zoowﬂgﬂaﬂaﬂwm@mmaﬁmm
(1) g e & Ao
(2) Wﬁwﬁwwﬂwmmmm
(3) TFE EnEEaEEr e
4 mgﬁuﬁrﬁﬂw
A Thia Sy s,

National Bamboo Mission was launched in 2006-2007 w1th the following n:nportant activities
but for one :

(1) increasing area under bamboo cultivation

(2) mass production of quality planting material of all the species
(3) development of human resource

(4) development of marketing facilities

Identify the activity.
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73. anfi® fomm anftr vafero amdle Say SRiaw wHare i w5 2

(1) vatEwia fefaw aw s

(2) vAETE AR G eaE

@) vaieeia fiy = Tiees

(4) TAETRT FIE TF feaw

Which is the hypothesis that indicates the relationship between the economic development

and the environment ?

(1) The Environmental Phillips curve hypothesis

(2) The Environmental Marshall curve hypothesis

{3) The Environmental Pigou curve hypothesis

{4y The Environmental Kuznets curve hypothesis
74, Sied YA AT qEiE e

¥t wEEE o T

(a) Ot AR foamme (i) 1968

(b) st form (i) 1969

(¢) Y=t v fFm (i) 1963

(d) ™ dad famra Hem (iv) 1958

a3 ;

@ ® ( (@
1) @) @ Gv) (@)
(2 Gv) @) (i) ()
@) @@ @ @ G
@ @O @ G )
Match the following and select the correct code :

Agricultural Corporation Year of commencement
(@) Agricultural Refinance and Development Corporation (i) 1968 -
{(b) Agriculture Finance Corporation _ (i) 1969
(c) Agriculture Credit Corporation : (i) 1963
(d) Small Farmer Development Agency (iv) 1958

Answer Options :

(@ ®) (cp (@
Ay Gi) @ (@) @
(2) Gv) @) @) @)
@) (i) vy @ ()
(4 (O @ @ @)
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75, ez @S A A M aRE ©d SR S|,
(a) =M (b) e © ThER @ v
et Tt - |
(1) (a) v - (2) () ST (b)
@) (@), b)) @ (), (o) T (d)

The absolute cost advantage theory measures the value of goods throﬁgh

{a} Labour (b) Capital {(¢) Land resources (d) Technology
Answer Options :  \.

1) (a) only (@ () and (b

(3) () ®)and (o) 4 (@), (b) and (d)

76. W 2 faum SR T
(@) TT1952 2012 T HEA HRAW Gdi=n 919 500 TEren AfF A e,
(b) STUTY IS ARATET AT T AT el ANE .
watddt wwY : | |
(1) ¥ (a) @ ¥ () @ ¥ @ z
Which one of the following two statements is correct ?

(@) The fertilizer con:lsumption in India has gone up more than 500 times from 1952 to
2012.

(b} Because of the bumper production India does not have to import fertilizers any ::
more. _

Answer Options :

(1} Only (a) "(2) Only (b) (3) Both (4) Neither
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77. e Yoo ara v e
= fagia Sefemer
(a) Fra=@d s G 9 T
(b) TEAIHF @d AN (i) el
() deft = fagia (i) SRS Fewrst
(d) SEviaa =R (iv) isa fay
Tt I
(@ (b) (g (d)
M O @ G @
@ @) @ (@) ()
@) @ Gv) @) 0
@ (v @) @)
Match the following and select the correct code :
Trade Theory Economist
(a) Absolute cost advantage (i) Paul Krugman
(b) Comparative cost advantage (i) Habeuler
(c} Opportunity cost theory (iiiy David Ricordo
(d) Intra-industry trade (iv) Adam Smith
Answer Options :
(@ () () (&
1) @ @@ @ @)
2 @ @ ) ()
(3) (@) Gv} @@ G
@ @ @ @
oAl HIVHE 9T /SPACE FOR ROUGH WORK
P.T.O.
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5. T a1 Rt SR i 2
(a) TRV FAQ AFEGAA T O THOT /T 1951 F 2010, 25% TR 20% T w4t e,
(by TS FIOTHIEE WATOT §F 1951 ¥ 2010, 50% WEA T TR 30% wd F 7. )
ot S
(1) F5% (a) (2) %9 (b) 3) %) TR
Which one of the following two statements is correct ?

(@) The proportion of agricultural labourers to the total worhng populahon 'has decreased
from 25% to 20% between 1951 and 2010.

RS

(b) . The proportion of cultivators also declined from 50% to about 30% in the period.

Answer Options :
(1) Only (@) (2) Only (b) (3) Both  {(4) Neither

79. ﬁamﬁmﬁaﬁmﬁqﬁﬁﬁm
() RAE T F 3 Areiior faamm sehet S 1982 el H.
(b) e Tftor ST TN 1973 WA W, -
® FBE @ FEE ® @ wE

Which one of the following two statements is incorrect ? : i

{(a) The National Agricultural and Rural Development Bank was established in India in
1982. '

(p) The Regional Rural Banks were set up in 1973.

- e e e . . ol 2 YT L 1 .

Answer Options :
(1) Only (a) @ Only (b) () Both  (4) Neither

%o FHATA W /SPACE FOR ROUGH WORK
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80. TEIE I faumsl RIVK TETT 2N ?
(a) YARRE {1en & FAgee Wead 6 - 7% F44@ AhSE YRR F1 S,
(b) YRAW FrE TS 49.7% BT Tt IR G
LE R |
(1) ¥ () (2) 9 (b) 3 A @) THR TR

Which one of the following two statements is incorrect ?

- (a) In United Kingdom and United States only 6 to 7% of the working population is
engaged in agriculture,

(b} InIndia 43.7% of Indias work force is provided with employment by the agricultural
sector.

Answer Options :
(1) Only (a) {2) Only (b) (3) Both (4) Neither

81. &I & faumist Fiow AR AR ?
(a) VIRGTE SHE ITEEHAT SIS FH SR (2010).
(by Tt FHE ITOSHA IRATen [k SfEE 3T (2010).
it I ; _ :
(1) ¥93 (a) 2 ¥ () @ I 4) T
Which one of the following two statements is correct ?
{(a) The productivity of Sugarcane in India is lower than that of China (2010).
(b) The productivity of Sugarcane in Egypt is much higher than that of India (2010)
Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

82. AME ScareATERa FfdaEt IR WY WUA W=l UrERe et FIve! ?

(1) FNR, AR, FFR (2) SEAY, TEERTH, MEAES

(3) FAR, T, K (4) AR I, wdwe

What are the Towns of Export Excellence for leather products recognised as such ?
(1) Kanpur, Jaipur, Srinagar (2) Udaipur, Pahalgam, Gaziabad

(3} Kanpur, Dewas, Ambur (4) Jaipur, Chennai, Chandigarh.
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83, formamiy fasm @ (GDI) ®ivwn fef=n faer Hen wml?
(a) Fomara smfiga 3Tl'ﬂ,"=l'i7l
(b) Terinsita e e snfh wermste Terigul o
() T e sam
(d) Y@ Fm Form g E@Rad
et 3w | -
1) @ ®) @) 2) (@) (b)) 3 BOW @ @60
What are the dimensions of Gender Related Development Index (GDI) ? :
(a) Female life expectancy
(b} Female adult literacy and gross enrclment ratio
(c) Female per capita income . _ N
(d) Percentage of females working in agricultural fields - -

Answer Options :
1 @ 6@ @ @ ®)© @ 0e.d. @ @0 d

84. forreds WA Wieww WA qodqT e | W A T Hetya S,

(@) fofrm @ sefqge G S S

© o A A @ T EEEE
it 3

M @ @ @) @ (Q
@ @) 0, @ Q) @ @,

The extent of absorption of foreign capital is inversely related to :

(a) Over valuation of exchange rate (b) Under developed financial sector
() Under developed labour market (d) Current account deficit

Answer Options : | '

(1) (@) and (o) @ @) 0 and ©

(3) (@) () () and (d) @ (9 and (d) L
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85. IR T FAT HARNT DI T~ TLH 2004-2005 Tefte faear fHadiay srfa St
fva wata 21w it 2 |
(1) gD 2 | @) 7 4) =¥

The value of output of which one was the highest in 2004-2005 at current prices of the
total value of output of agriculture and allied sectors ?

(1) Rice {2) Wheat (3) Milk (4) Sugarcane

86. TECIUME FFET TR T FFHwA HH I s Ta fEy 96 T g acd Higdwd
T Feoi g FEAEd T 1980 Wed foier faera € w9 SevYR avel Te o Seaers
vt Hr ¥ 2
(1) o9& I vfea= (2) A surcE wioa=
(3) U wETEE M (4) SUE SR vfadsq
What was the title of the Brundtland report that defined the term sustainable development,

for the first time used in the world conservation strategy presented by the International
Union for the conservation of Nature and Natural Resources in 1980 ?

(1) Our bright future {2) Our dark future
(3) Our common future "~ (4} Our uncommon future

87. WRa Fim SE®T 2005 AT WO AT GRTE GIA9T Hiow sikd ?
(@) e A A

(by  Tweitor FaT

{(c) T qIvigEEat

(d) ot g

() TmHw greEt

gt 34y _

1 (b)), @) - 2 @ ®) )

(3) (@) @ @) (e @ @ b)) W) (e

What rural infrastructural facilities are included in the Bharat Nirman Programume 2005 ?

{a) Irrigation and Rural Roads

(b) Rural shelter

{c) Rural water supply

(d} Rural electricity

(¢} Rural Telephone

Answer Options :

1 (b) (9. () 2). @, ®) . 9

G) @, (© @ 4) (@) (), () (d) (¢
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88. aawr fawmw den .
(2) T T ST T
() fou= feTmaRt fomyeEer
() TS et T
(d) FraidmRar farpar
| i W
1 @ 2 (), () 301 ()
@) @ @ @ o)
The International Development Agency (IDA} helps in :
(a) Financing rural infrastructure
(b} Financing drip irrigation
(c) Financing marketing facilities
(d) Financing exports

Answer Options :

1) (@), ©) | - @ (@), ®)and ()
| (3 @& E (4} (b)
89. HTTUSHT == RS fagiaren ___ S/9E deve 9W
(1) s e g '
(2y ew <ot fegia

(3) e e fagia

(4) 3H-[]| - fagid

Hecksher - Ohlin theory of International Trade is élso called as
(1) Theory of Comparative Advantage

() Factor Endowment Theory

(3) Theory of Absolute Advantage

(4) Muiti-Country-Multi-Commodity Model
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90. W= IERiOed gmfas 2.
(a) g SiYF fawra
(by fawwar 0w
(c) Tafrem o er
(@ mgfsaa' wEAT
I
(1) (a) 3T (d) (2) @) b) (0 3 @ b 4 © @
The SAARC objectives include
(a) to accelerate economic development
(b} to reduce in-equality
{c) to stabilise exchange rate
(d) coliective self reliance
Answer Options :

(1) (@) and (d) 2 (. ®) () G @ & @ @@
91, & 2000 = NN TRESA IR THFAFI TR e S g,

(ay ot wefh

(b) TUETHRA A0

(¢) wFa fAdi® Ao
(d) wi-fadedt = wefa
Tt a:

Q) @) &) @ @ )@ @) @ © @ © D
The ASEAN Summit in 2000 launched the Initiative for ASEAN Integration (IAl) to

(@) reduce development divide

{(b) enhance competitiveness

(c) improve human development index

(d) reduce crime against women

Answer Options : |

Q) (@) b 2 @®.0 @ @0 @ © @
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92, i S faumide! SivR ST aTE ?
(a) VA TYH SPTR walq e ET YR STd 17% e SR, 9EET 10% 3 ST

AT FHHIE L,
(b)) 3 e geina RETeAT S[HATET TS S el e R,
gt S |
1) F@w@ (Y FEE) @ . @ T

Which one of the following two statements is incorrect ?

(a) India is at the top of the World with 17% of the total livestock population. China
comes second with 10%.

(b) The contribution of livestock in India to the national income compared to the other
countries is insignificant.

Answer Options :
(1) Only (a) {2) Only (b) {3) Both (4) Neither

93. 2013 =N UK TYHA AerE SR TiET AR SR,
(a) YR INEHA AZiq0l
(b) GRS faww
() St-TeTww
(d) o I femran %t
it Y
0 @ ®) (2) (a), (b) =T (c)
@) (9 (@ - @) (@), () ()
The objectives of National Livestock Policy of 2013 include
(a) Improving productivity of livestock

{(b) Inclusive growth

(¢} Gender empowerment

(d} Reducing income inequality in rural area

Answer Options : |

L (@ O () (a) (b and (c)
G © @ 4)  (a) () and (d)

HESER FHIE I /SPACE FOR ROUGH WORK
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TEre 59 faumiisl S Srary o ?

(a) ETE SFEREK HRATE SR die 1987 1 2004 A2 THRcHE Tige.

(b) & 1995 YT 2003-2004 THd SR drer AR foore s

(1) %9 (a) (2) &9 (b) @ (4) TS E

Which cne of the following two statements is incorrect ?

(a) Indias Trade Balance with the SAARC countries from 1987 to 2004 was always
positive, -

(b) Since 1995 the Trade Balance has grown about three fold upto 2003-2004.

Answer Options : ‘

(1) Only (a) - (2) Only (b) (3) Both (4) Neither

95.

e 2R FauT SR e o ?

(a) WA 1951 <A1 STTAUTER W& : FHI TO0RR 1 : 5.3 8.

(b) TRATE 2011 <A1 SFOFOTER 98T : Wrter Ui 1: 2.2 3R,

it S

(1) F2 (a) (2 F== ) (3 IA ¢
Which one of the following two statements is correct ?

{a) As per 1951 census Urban : Rural ratio in India was 1: 5.3

(b)  As per 2011 census, Urban : Rural ratio in India is 1 : 2.2

Answer Options :
(1) Only (a) (2) Only(b)  (3) Both (4) Neither

96.

I FEt AgEur e (ICAR) &f@ widmed deiee i qites foemR s g
TIEEAHS AU SUARAHSE T 1951 - 2014 W1 HIAGSH T2 9% el AR
1 4 2 5 (3) 6 4 7

The ICAR has played a pioneering role in ushering green revolution in India through its
research and technology development that has enabled the country to increase the
production of food grains __ times since 1951 to 2014.

@ 4 ) 5 (3 6 4 7
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97. w@wmﬁﬁw%wwwuﬁﬁwmﬁamﬁ.wwsﬁ
T faAvTEeT wiee Wisd ofae HIvren 99l Sivan e 2
(1) 2001 (2) 2002 (3) 2003 (4} 2004

Agricultural markets in India are regulated through “Agricultural Produce Market
- Committee Act”. In which year was the first model APMC Act passed in Maharashtra ?

1) 2001 (2) 2002 (3) 2003 (4) 2004

98. T T A F S anR ?
(a) ST T ST STOT 0.8 3 SR,
(b) F.TE.E. T TIEL FHA YROT TS (A v e Aen avfus S
Tt I
W FE@H @ FeEH @ W @ W
Which one of the following two statements is incorrect ?
(a}  Our average size of holding is 0.8 hectares.
{b) " The average size of holding in USA is more than fifty times that of India.

Answer Options : _
(1) Only (a) (2) Only (b) (3) Both (4) Neither

99, R 3 Faure) R e a2
(a) =9 O™ F9 haw 12 Aeiear o I
(b) oY A Fol Hae 9 wiFaisE fae .
e :
1) ¥ @) @) @ () @) WA @ e T

Which one of the following two statements is correct ? -

(a) Short term loans are those that are granted only for 12 months.

(b) -Short term loans are those that are granted only for 9 months.
Answer Options :
(1) Only (a) (2 Only() (3) Neither (4) No period is fixed
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100. 3TFTAT THENEF A0S FA M0 G &AM THA 4 236 AP I9m T
i fasw e’ 2007 - 08 AuiWE YE FIOAE 3.
(a) @ A=A Fioeart fafire yrmren fawr s T
(b) IR W A1 A A .
vt I
(1) %32 (a) AT 2) @ (b) T
3) TR IR (4) e A T
With the object to achive 4 per cent growth rate in agriculture and allied sectors during
11th Five Year Plan, the “Rashtriya Krishi Vikas Yo]ana” (RKVY) was started in the year
2007 - 08.
(a) It does not envisage development of any particular region.
{b) Saffron Mission is not covered under the scheme.
Answer Options :
(1) Only (a) is right (2) Only (b} is right
{3) Both are right (4) Neither is right
101, Hodt fafed, SwR (Fheimin o) T, TS AR W G NN T e
THIOIFER Y g ?
(1) 7ot 13 9 18 =Swide 2200 () T fea-2200
(3) AN FEVI AREAm 2600 0 (4) AT HIO0E TR
Which daily calorie requirement (k.cal) is incorrect as recommended by the Nutrition
Expert Group of C.M.R. : : :
(1) Girls 13 - 18 years - 2200 (2) Pregnant women - 2200
{3) Lactating women - 2600 (4) None of the above '
102, LG A GO FEF 2013 FA=A S faaww gonel! 798 ] -' T FELI AR,
RS iU ELRETEC R
(1) 237 R (2) T 1war fewe
(3) T 2wt fea (4) T4 Ve e
Subsidised price under Targeted Public Distribution System for wheat is for a

period of three years from the date of commencement of the National Food Security Act
2013.

(1) X3 perkg. (2) T 1perkg.
(3) T 2perkg. (4) T 4perkg.
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103.

52 A
TATAtHT ot g’ s antes/ Rl FIarER IRg TR Sifeg F3 ?
(a) AURVE e
(b) T foaa
(c) dQuifw fdma
e S L
(1) (a) S (b) @ @ (3)  (b) o (o) @ ()
Which crop price is announiced before sowing of the crops by the Govt. of India 7
(a) Support price
(b) Procurement price
(c) Statutory price

Answer Options :

1 @and®) 2 (3 () (b)and (9) @ ©

104.

TS Heam Hisi FEFTEEd B a9 Yt Siva faum g o ?

(a) A FREHW aa dufrs Wi gune sriftm e

(b) T T WA o R W Wiy Wgaie T g A S e,
‘:l'd'l'd’l‘ﬁﬂ‘: -
(1) %42 (a) 2 ¥ () (3) < (4) TS T

Which one of the following two statements regarding National Mid-day Meal Programme
is incorrect ? : '

{a} Improving learning achievements of school children is also intended in the
programme.

(b) School meals are provided in some areas however take home ration is the norm in
the majority of the states. '

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

oAl HIATEISt ST /SPACE FOR ROUGH WORK
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105. 2003 - 13 A F@IHE RATA] W AR T o4 faqq &t .
(a) frakia snfwan wa SrieR o,
(b) Ieiew aRga Fafddia FFRE Jee.
() iferm awg= fafdide areE aee.
(d) EfEdETEt fia aea.

atet I/
(1)  (a) 0 () 2) (@ (b S (c)
(3) (b) iU (d) (4) (a) 300 (d)

The composition of India’s Foreign Trade from 2003-2013 shows that :
(@) Asia is a dominant partner in export :
(b) Contribution of manufactured goods in exports has risen

(c) Contribution of petroleum products in exports has risen

(d) Export to USA has increased

Answer Options :

(1) (@ and 9 @ {a), () and )

(3) (b)and (d) (4) () and (d)

106. 3T Yoo Wigd FAUG AaFAA Wieta YereaR mied fEet 9 -
(a) fofay fumioar srmem fed
(b) W Eeiiae sl wasT uRkfrd
(¢) o SATIRIfaTEt et
(d) iaTa IR fomaren et e FT0 9 TR I
Tt I ;
(1) (o) faum 37 R, @ (a), (b) faur 9T ama.
3) (@), (b), (&) faum Ara A (4) (@), O), (). (d) f9aM dra 3.
AGMARK NET is an information system providing farmers with the details regarding :
(a) latest prices of important crops.
- (b} consumers preferences and supply position.
(c) information on global trade
(d) Nation wide market information, collection and dissemination.
Answer Options : o _
(1) () is correct statement (2) (a), (b) are correct statements
(3) (a), (b), (d) are correct statements (4) (a), (b), (c), (d) are correct statements
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107.

54 A
Etea FariE e A FaEitE FOR @ a2
() o T Y & OTH WY TR SIS @S T 10 TG Yaq Hl a7,
(b) T f=" Yoy U A YT NRd A= @9 T 10 SRt 9 Ffiw SR,
i I
() F92 (a) (2} 92 Ob) @ == (4) TE TR
Which one of the following two statements as per the previous classification is correct ?
(a) Minor Irrigation Projects are those projects which cost less than ¥ 10 lakhs.
(b} Major Irrigation Projects are those projects which cost more than ¥ 10 crores. -
Answer Options : S :
(1) Only () ) Only (b} (3) Both (4) Neither

108.

widt < fauritet S dra a2 _, |

(a) mzmylsmwmwmﬁzmmﬁnssoqaﬁﬁmmwm:
fafe=a *et Al

(b) Wam?maﬁ

it T -

() %am (a) 2) 9% () @) T 4) TFETE

Which one of the following two statements is correct ?

(a) The minimum support price for Jawar Hybrid is fixed at T 1550 for the crop year

2014 - 15.

(b) That for the ground-nut is ¥ 4000.

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
109. TF 2012 -13 71 quiq A FH- YR THY IARA ¥ .
@) 25713 T = () 26438 TR T

(3) 259.32 WY T (4) 24449 TUEH T

The total food grain production of the country during the year 2012 - 13 was

(1) 257.13 million tonnes (2} 264.38 million tonnes

(3) 25932 miillion tonnes (4) 24449 million tonnes
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55 NO%
AT JINEEHAFSTET FT WY 38 ?
(a) STEWERIE §Yvi ST Yo U S WEdrE W TE T,
(b) SATART . SN Heral W HUA: T TFal,
(c) TG d q@varE! HTeEE! Hae .

L (dy Affaia e T
: Uﬂfﬁﬁ

(1) %% (b) | 2 (@3 (b) wH

() (@) ()3 (d)wH | @ @, @) @for@y
What is true of the bonded warehouses ? '

(@) The importer does not have to pay the eritire customs duty at a tirne.
(b) The importer can take delivery of the goods in parts.

(c} Care is taken that the quality of goods is maintained.. ..

~ (d} Re-export is possible.

Answer Options : : -.
1) ®)only (2) () and (b) orly ]
() {(a) (b) and (d) only 4 @ @) (Qand@ -

111.

HogTHie SNvas AFRAHE] Feiferg Jraaedl Jrel =

(a) SNfoTF TATA G 9 formior

(b) TG Nt wewE

() v sruvgia o A ] -

(d) SO ar e s s

1) () s (o) (2) - (a) sfoT (d) (3) - (b) 3nfT (d) @) (@) = ()
Sensitive Nuclear assistance includes : e _ : .

{a) assistance in design and construction of Nuclear Weapons.

(b) civilian Nuclear assistance.

(c) construction of power reactors and research thereon.

{d) interstate transfer of weapon grade fissile material. = -

Which of the following combination is true ? '_

) BandE @ @ad@ @ Gad@ @ (@ and ()
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112. TEARTS! FIOG $U7 ¥ ERTSREA < A AT 2
1) == () %S @) i =g (@) TERER
Which of the following is not a source of hydrocarbon fuel ?
(1) Coal (2) Wood _ {3) Natural gas {4) Gasoline

113. W T YO9FIaS §O8d Ao feeft @2 :
(1) -50°C 2 -10C (3) -65°C (4 -78C

What is the average surface temperature on Mars ? :
(1) --50°C 2y -10°C 3y -—65°C 4y -—78°C

114, R ST Qreleds! K T 3TE 2
(1) % fayeesia W39 999 A
(2) TUE Yo FOU wE T
(3) ST FHH TR T .
(4) SYUE AHLEHE T e AR
What is the limitation of the geostationary satellite ?
{1} It does not see the equatorial region.
(2) It does not see the polar region.

(3) It does not see the Tropic of Cancer region.
(4) It does not see the Tropic of Capricorn region

115. Twrfeea quiATeT Ao ST Tt W T S S8 T Sae e ?
(1) 350 fret 3<fEr @ 35° AMfTER
(2) 250 faFet 3=t 3 35° FfaaR
< (3) 350 Seier g 270 SAfaaR
(4) 317 feit ISR 9 33° STAfaR
Tropical Rainfall Measuring Mission (TRMM) satellite was launched in a low orbit at
a ) :
" (1) height of 350 km and an inclination of 35°
(2) Theight of 250 km and an inclination of 35°
(3) height of 350 km and an inclination of 27°
(4} height of 317 km and an inclination of 33°
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116. GEGiH! SR 1 9 T8 ITR T f50S T ?

1y =wl (2) =i /I F (3) w=F II/IA (4) =& IR

Which of the following is not a GPS satellite generation series ? _

(1} BlockI (2) BlockI/IIF (3) Block II/IIA (4) BlockIIR
117. % WA SEagrge fafwvi ferdda qer vfom wos YW, W W Fore

(1) SHEhREm (2) WEmERE

(3) T 4 3=k

An important consequence of scattering in fusion plasmas is radiatien, which

refers to the process of radiation emission when a charged particle accelerates or

deaccelerates.

(1) Bremsstrahlung (2) Microwave

(3) Gamma 4y UV

118.

Terfere S Fmion RO YOTel! A AR W ot S (P,) § wiertE S
T et < ? |

_ I&t
(1) P¢.=M— (2) PO=L
I3 EC
T % A7 T X T
@ T T W ot T

" The energy of water per second (P,) required in hydroelectric system to generate electricity

is given by :
Force x Pressure Force x Height
(1) o time (2) © time
Force x Velocity Force x Density
@ Fo — @ Fo time
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| 119, TG Pian woRra 3 P TRfE F0E AR, Gielets § S0 ?
() WEER-233 Q) WEEA-25 (@) TEEW-238 (4 RFEw-239

Enriched Uranium means Uranium that is qnﬁched in isotope. Out of following which
one is it ? ' Y =

(1) Uranium - 233 (2) Uranium - 235 (3) Uranium - 238 (4) Uranium-239

-120. iriifeas we, fefeea Femm @ o eV HeH .

1 stdwm (2 St (3) HemT™ (4) Y EAE |
The key element of ___ is the geo-referenced, digital map.
1) GPS {2y DGPS 3) GIS (4) remote sensing

121,3%1?-!3‘1?%%1&%%@%?_
(a) e sftr FEHEE AR RART FUTETE e FOMN SASt WU <9 S
(b) hoiedl HIRIYHIO 3000 iz =7 Pefam Ao 10 Juld TR TR 02,
it 34y :
1) ¥ @) 2) ¥ (b) 3 Q= (4) @ T
Which one of the following two statements is correct ?

 (a) Canada is the third country to supply Uranium to India, after Russia and Kazakhstan.

(b)  As per the agreement it will provide 3000 metric tonnes of Urarﬁum over the coming
10 years. ?

‘Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

L

122, ST o arfaoaTEE AR Ao W S e ges W Sl W S w2

(1) TR 2 w@{@ (3) TR ®M (4) femm
In case of domestic solar water heaters, which is the best solar absorber ?
(1} Cu plate (2) Black paint (3) Black chrome (4) TINOX
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123. ST WETaW HiSUl SEa o Href FIR A s Hown 3w o 2

1y sos @ SR @) amife @ dw

Which nation has the best configured and operated electricity grid in the world ?

(1) England (2) Germany - (3} America (4} Russia

124. mmmmmmmmmmmwma
Gieitadia 9% IO AT AIH FREHE SR Hell A,
1) 1 &t (2) 1.2 Tt (3) 2 f&di (4) 35 fest

Ocean Thermal Energy Conversion (OTEC) process makes use of the difference in
temperatures of warm surface water and very cold water at a depth of

1) 1km ) 12km @) 2km (4) 3.5.kn_1

125, 3TV QoneETe AR e R o 2 |
(1) 3500 fi. (2) 2000 fei. (3) 5000 e, (@ 5500 foh.
What is the range of Agni V missile ?

(1) 3500 km (2) 2000 km (3) 5000 km (4j 5500 km

126, 1 el ot fudaed e @ wRwae Ao Swd, S fowml, wee, wd
(1) TS HIegE (2) TR WM
@) TeegEs FiFgd @ fors Fiegdim

is a new generation of computing, which takes into account the environment
in which Information and Communication Technology is used everywhere, by everyone
and at all times.

(1) Mobile Computing (2) Pervasive Computing
(3) Distributed Computing (4) Grid Computing
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127. o0 e TR TR TV ST T wed T iy 2 1t e Fmi e, e

2 T B a@mﬁmﬁamﬂwmﬁaﬁa@ﬁﬁmm fEsrorEn
i Hed sufor €-dor diw weatafid wa.
(1) T Hd Q wWIHIAR 3 AT (4 FW@

When a mail transfer program contacts a server and forms a TCP connection, the two
programs follow the that allows the sender to identify itself, specify a recipient
and transfer an e-mail message. S

(1) SMTP @ HTIP (3 FIP {4 TCP

128. _ mwmmﬁmmwﬁmﬁvﬁmmwﬂ
/T F A AT S e, fowen ot wol g welgwa aefe.

(1) ey - - 2) A (@ watET fadm)
(3) AMTAAT _ @) STgEmEET

is an application that allows a user to interactively analyse the data. This -
appllcatlon increases the productivity of business managers, developers and that of the |
whole organization. :

(ty oLar (2) TPS (Transaction Processing System)

(3) OLTP (4) Data Mining

129, awmwwmm@wmwwww
@m/w_m@wﬁz&mﬁrmﬁﬁﬁfmé-ﬁ@ TfaE ST, |

1) Farm @) Tt
G _ (4) faaw fesitn

is a type of cyber attack in which e-mails are sent to a large number of people
asking sensitive information or encouraging them to visit a fake website.

(1) DOS (2) Phishing

(3). Ransomware (4) Spear-phishing
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130.wrﬁ?ﬁaﬁaﬁmzooommﬁmmm f¥ren TR,

(1) a2 98 JETaE sfon/ gan 9 1 e ¥ g8

(2) HHE 3 TN JEIEN S/ AT FAS 2 AE T4 I3,

(3) H9A 3 T THEN it/ FAYT FA 1 A 4 €S,

(4) FHRI 2 9N qHTaM S/ Y FHA 2 T R TS

According to IT Act 2000, punishment for hacking the computer system is
(1) imprisonment upto 2 years and/or fine upto 1 lakh rupees.

(2) imprisonment upto 3 years and/or fine upto 2 lakh rupees.

(3)  imprisonment upto 3 years and/or fine upto 1 lakh rupees.

(4) imprisonment upto 2 years and/or fine upto 2 lakh rupees.

131.

e <M fRarist S 9 o TR ?

(a)  TETSTOTTER fETOTE e Y5 Y oA Wit AT T,

(b) Tem & ShRE Faw qid I WG AT9Ea.
Taidt 39

) FB @ @ FeE @) @ @ e

Which one of the following two statements is correct ?

(a) The process of solubilization and extraction of metals from their ores by the micro-
organism is known as Bioleaching.

(b) The process at present is used only for copper and gold.
Answer Options :

(1) Only (a) (2) Only (b) - (3) Both (4) Neither
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132. fgmﬁwawgm@mmwﬁmmw gﬁaﬁ?ﬁmﬁﬁwﬁm
)
(a) SSIE AH-G-TOH € UHEl.
®) W@wﬁﬁmwﬁmmﬁ
watd e : |
(1) ¥ () (2) ¥ (b) @ W @

Fruit bats are thought to be the natural Ebola virus hosts. Which one of the following two

statements is correct ? v

e

(a) Ebola also spreads through human;to-human transmission.
(b) However a dead human body cannot transmit Ebola. - .
Answer Options : - .
(1) Only (a) (2) Only (b} (3) Both o - (9 Neither

133. JEia 2R faumitet FoQ 9 oy ?
(a) WWWWWWWW(M)W%
(b} HR W KOOGS ST A B
it 3
W ¥BE @ ¥eE @ W @ i

. Which one of the following two statements is correct ?

(a) Antigens are produced as body’s first line of defence against a. vu'al attack.
(b) Antigens are used to fight cancer.

Answer Options :
(1) Orly@ (2 Only() (3) Both (4) Neither
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134. G fedem it T wRAMLd Wil TR SFE 9qd heledl goard
TARA, FIHT 96 Heied] TSGR aaik IeAe, HISal FHT0NaR STk GEsiieh Gl forehrd S
HE, TP FE HeATH YIS AR SO < HS O S i .

(1) GEEA érm.r{wmﬁﬁ?ﬁ
(2) SIIHTA SEE A ST S
(3) wIIHE Atgaitmt w=rmr
@ Wﬁﬁwnﬁ?ﬂ

From the options given below, is constituted to permit large scale production
of rDNA products, as well as use of genetically engineered organisms, research and
development of rDNA, release of genetically engineered organisms into environment and
making use thereof in India.

(1) Recombinant DNA advisory committee
(2) Review committee of genetic manipulation
{3) Genetic engineering approval committee

(4) Institutional biosafety committee

. 135, & 99 furitst SR g o ?

(a) T TSN daft dt 9 I usfararen ygda FRifigEyE o,

(b) &® HIHT —4°C a1 ATHARR H& A

&t ey ; |
(1) ¥ (a) (2) %= (b) (3 I @) TR
Which one of the following two statements is correet ?

(@) The technique of preserving tissue or cells by freezing and storing in liquid nitrogen
is called as cryopreservation.

(b) The preservation is done at the temperatures of —4°C.
Answer Options :

(1) -Only (a) (2) Only (b) () Both (4) Neither

Foodt HIWHEE AT /SPACE FOR ROUGH WORK
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136. WIFeri! IV TRea € S qiEa Savarsia 3 o ?
(1) T feroirer . (2) EEE TIEg TR
(@) s s A (@) seren A A
Which of the following me'fhods is the most suitable for the preservation of food
products ?
(1) Gamma ray irradiation (2)  Exposure to liquid N, Nitrogen

(3) Treatment with Ethylene oxide (4) Elxposure to ethylene vapours

137. e 3R faumitet Som T og 2
(@) TR T FEfE AT FA fro 6 gt & e
®) mﬁmﬁéaw%&am.
(1) %9 (a) (2) F93 (b) @ (4) THE
Which one of the fallowing two statements is correct ?
() Gregor Mendel performed the experiment .ch inheritance on the plant of pigeon pea.

(b) Pig is the focus of most effects in the field of Xenotransplantation.

Answer Options :

(1) Only {a) . (2) Only (b) (3) ' Both (4) Neither
) 38, % sryfeehon gafa s (e wifewes avifen) T
1) @A Fe (2) TieER TEa (3) @ oS

is not a Geneﬁéally Modified Organism (GNO).

(1) Bt Cotton (2) Golden rice (3) Tracy {4) Pomato
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139. TS 2 faumitET HoR AT e ? |
(a) 3T THAd 9T IR HAfehall MIEIPES GrrsiaaR! (GEmAe Qs ) Fayem

¥z .
() T A s e T T R

il T

(1) F9% (a) (2) 9 (b) (3) [ (4 TR T

Which one of the following two statements is correct ?

(@) The first scientist who was granted a patent for genetically modified micro-organism
(Pseudomonas aeruginosa) is Ananda Chakrabarthy.

(b) He was then working for Wackhardt Pharmaceuticals.
Answer Options :

(1}. Only (a) (2) Only(b) (3) Both - - (4) Neither

140. & 39 faumidEt R srErg R ?
(a) 2003 Wielt YRaT s, wﬁ%mﬁmﬂmwﬂw e
) T (g #Btcottonﬂmaﬁﬁﬂﬂﬁﬁmawm%ﬁ. |
i |
(1) 9 () (2) 9B () 3 T @ =T
Which one of the following two statements is incorrect ?
(8) Commercial cultivation of Bt Cotton in India was approved in the year 2003.
(b) Ranbaxy (Mumbai) imported Bt cotton to grow in Indian soils.
Answer Options : | |
(1) Only (a) (2) Only (b) 3) Both (4) Neither

HoEAT HTATE AR /SPACE FOR ROUGH WORK

P.T.O.




NO6

141.

66 ' A

(1) Sl AgaitE Afedmed 9 9K TS

() foam =0 sraifs wfes a5 999

(3) Toramy =n e Wil see uee.

(4) Tit=a Wit wafammes 53 P FEA.

Gene Therapy is used to treat diseases by :

(1) modifying genetic information iﬁ the cells of patients.
(2) modifying genetic information of the viral genome.

(3) modifying genetic information of the bacterial genome.

(4) modifying the cellular environment in the patient.

142.

e a faumitet SR sy % ?

(@) W—mﬂﬁwﬁwww :

(b) 'mwmwﬂammw.

(1) F93 (&) 2) %3 (b) @ @ @ wET
Which of the following two statements is incorrect ?

(@) The causative agent of the Creutzfeldt Jacob disease causing brain abnormalities
was identified to be a protein.

(b) They are without nucleic acid and are called as Prions. - |
Answer Options :
(1) Only (3) «(2)  Only (b) (3) Both (4) Neither.
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143..1ﬁaaﬁ-ﬁuﬁﬁaﬁﬁvﬁmaﬁ?
(a) ﬁxﬁ?ﬁ'«lasﬁﬁaqﬁ6:4mﬁmmmmquﬁana.w.mn@ﬁﬁwm'

IR,
(b) STHIA WieAT FHHG A IR HET aigd §99 B a9,
a0
(1) 9= (a) 2y F9% (b) (3) == (@) TE TR

Which one of the following two statements is correct ?

(a} Mixing gasolene and ethanol in a 6 : 4 ratio has become a popular fuel in mid western
United States.

{(b) Brazil produces and uses large amounts of ethanol as an automotive fuel.
Answer Options :

(1) Only (a) (2) Only () () Both (4) Neither

144. &S 3M faurst wive Qg R ?
(a) FETET SRS AR TGS T 2 .
(b) TS TS & fen) faved wEA S SieEEE T,
Tt 3T ; | |
(1) ¥92 (a) . 2) Fa2 (b) (@) F= (4) T TR
Which one of the following two statements is correct ?
(2) An-increase in carbon dioxide in the atmosphere leads to Global Warming.

(b) Global Warming itself may lead to an increase in carbon-dioxide because of melting -
of ice caps.

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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TEIereR] IR/ IO Fedl St Y Mereraret o e HTad/w ?
(@) SAA T Rl
() TR, T faeeit
© 7S, 6 et
(d) I=H.TEEAR & foeet
watd I
(1) | (a,)__ () ia): (b) (3} fa) () () 4) (@) ®) () (d)

" Which of the following funding agencies promote/s Biotechnological research in India ?

{a) DBT, New Delhi
(b) SERB, New Delhi
(¢) UGC, New Delhi
(d) ICSSR, New Delhi

Answer Options :

1 @ 2 (@) ®) @ @ o) © @ (@, ®), <) @

146.

mreﬂu%amma A WA, gaﬁqﬁamﬁ%-:ﬁ%ﬁz?gﬁ 2005 31 TAM 24 TET=A
HIA _ |, W, wrEErE g Fwe B

@ 986" @) 944 3) 926 @ 912

Indlan Meteorological Department (IMD) station at Santacruz (Mumbai) had recorded
‘mms of rain in 24 hrs during 26! and 27t July 2005.

(1) 986 - (2) 944 (3) 926 @) 912

147

QT TEd! HIve SRR, 26 fedaR 2004 It oo YAMT i TRom e e 2
(1) wrEe (2) wRfEmEn (3) Wr’a OREIGED

Which of the following countnes was not affected by Tsunami waves of 26! December
2004 ?

(1) Thailand - (2) Malaysia (3) India (4) Srilanka
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148. WWW@WWHWW%EWWW

fer®
(a) 8 T 2006

() 26 & 2008

(€) 29 STERET 2005
(d) 25 AT 2007

Tﬂﬁﬁ I

@@ ® ( (@
B O @ (G ()
@) @) @ @) (i)
(@) Gv) () () @)
4y (i) Gv) @) @

@

(i)

()

(iv)

WIEERE PR 789 q I,
IEURERHE 17 S=eh 2 rrrl%iam 29 ST
7 9 100 s/@H!
W%aﬁﬁmﬁasmﬁamvﬁm
TUR 42 SiETE g, ‘
HESEIEIE AT uyiieisees Aied
STFSEhIE Hifeshd 37 Akral 4eg & 125 @,
70 SR qeg,

Match the following pairs correctly and select the correct optibn given below :

Date
{a) September 8, 2006

(b) July 26, 2008
{(c) October 29, 2005

(d) August 25, 2607

Ans;wer Options :
@ B @ @

®H O @ G )

(2) @) @) G @)
@) G(v) O (@) @)
@ @) @) G @O

@
(i)

()

(iv)

Areas of Bomb blast and deathé

29 persons killed and over 100 injured in 17 .
serial bomb blasts in Ahmedabad.

At least 42 persons were killed in bomb
blasts in Hyderabad’s Lumbini Park and a
restaurant. '

Over 37 persons killed and 125 m]ured ina
series of bomb blasts in the vicinity of
mosque in Malegaon, Maharashtra

Three powerful serial blasts in New Delhi,
about 70 persons died. '
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149. S T e WG AHIG EE Feiell Tou FIvea YEHyyaw giEsen a4 ?

SEISMIC ZONES
According to Indian Standards Ist 1893-1976

(1) uREE= IV (2) wfmsa Vv 3) s VI 4) viees VIl
Encircled areas in the map indicate which seismic zone according to Indian Standards ?
(1} ZonelV (2) ZoneV (3) Zone VI (4) Zone VII
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150. @E 3 Ui HoR Urg o ?
(a) FE I T IRARIE TFAS SERE! 9 .
(b) FA AT IR IHIAMK THAA AR
T S |
(1) ¥ (a) (2) %ﬂa (b) 3) A 4) THd A
Which one of the following two statements is correct ?
(a} Barren Island is the only active volcano in India.
(b) Barren Island is located in the North Andamans
Answer Options :
(1} Only (a) (2) Only (b) (3} Both (4) Neither
-00o0-
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